AS 2.2 Graphs: Trig Graphs Practice
Sketch these graphs:

1)  y = Sin(2πx)





4)  y = Cos(πx) – 3
2)  y = Cos(2πx) + 2




5)  y = -2Sin(0.5πx) 
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3)  y = Cos(πx) – 2





6)  y = 3 – Cos(πx)

7)    
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9)     
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10)   
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Write the equations for these graphs

1) 








4)
2) 








5)
3) 







6)
1)    y =







4)   y = 
2)    y = 






5)   y =

3)    y = 






6)   y =







7)    y = 



8)    y = 







9)    y = 
10)   Starting with the graph of the equations 
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a)  What is the new equation if the graph is moved down 3 and stretched twice as tall?
a)  What is the new equation if the original graph now has a cycle length of 10?
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